DIVIDING Polynomials

$$\frac{x^5 - 2x^2 - 27}{x - 2}$$
 $\frac{439}{91388}$
 $\frac{439}{8}$
 $\frac{439}{8}$
 $\frac{439}{8}$
 $\frac{1}{8}$
 $\frac{1}{8}$

Synthetic Division—only warks if dividing by $x^{\frac{5}{2}}2x^{\frac{7}{2}-27}$ $x^{\frac{4}{7}}$ $x^{\frac{1}{7}}$ $x^{\frac{1}7}$ $x^{\frac{1}7}$

FUNCTION OPERATIONS

$$f(x) = \chi^{2} + 3\chi + 2 \qquad g(x) = 3\chi^{2} + 7$$

$$f(-3) = (-3)^{2} + 3(-3) + 2$$

$$= 9 - 9 + 2$$

$$= 2$$

$$(f+g)(\chi) = \chi^{2} + 3\chi + 2 + 3\chi^{2} + 2\chi + 7$$

$$= 4\chi^{2} + 2\chi + 9$$

$$= 4 + 2 + 9$$

$$= 15$$

$$K(x) = 3x+2$$
 $m(x) = x^2 2x+4$
 $(Km)(x) = (3x+2)(x^2 2x+4)$
 $(Km)(x) = \frac{x^2 2x+4}{3x+2}$

Composition of Functions - Function in a function
$$f(x) = 3x + 2 g(x) = x^{2} - 2x + 1 \quad h(x) = \frac{3x^{2} + 2}{x^{2} - 1} \quad K(x) = \sqrt{2x + 1}$$

$$f\left[g(x)\right] = (f \circ g)(x)$$

$$f \text{ of } g \text{ of } x$$

$$f\left[g(x)\right] = (2x) = 2^{2} - 2(2) + 4$$

$$f\left[g(x)\right] = (4x) = 2^{2} - 2(2) + 4$$

$$f\left[g(x)\right] = (4x) = 2^{2} - 2(2) + 4$$

$$f\left[g(x)\right] = (4x) = 2^{2} - 2(2) + 4$$

$$f(x) = 3x + 2 g(x) = x^{2} - 2x + 1 h(x) = \frac{3x^{2} + 2}{x^{2} - 1} K(x) = \sqrt{2x + 1}$$

$$(f \circ g)(x)$$

$$= 3(x^{2} - 2x + 1) + 2$$

$$= 3x^{2} - 6x + 12 + 2$$

$$= 3x^{2} - 6x + 14$$

$$= 3(2x + 1) + 2$$

$$= 3(2x + 1) + 2$$

$$= 2x + 1 - 1$$

$$= 6x + 3 + 2 - 6x + 5$$

$$= 2x$$

$$f = \{(x,y)\}$$
 $f = \{(-2,3)(4,2)(7,-4)\}$
 $f'' = \{(y,x)\}$ $f'' = \{(3,-2)(2,4)(-4,7)\}$

Steps for finding inverse:

1) Switch the x + y variables 2) Solve for y.

$$f(x) = 4x - 7$$

$$X = 4y - 7$$

$$\frac{x + 7}{4} = \frac{4y}{4}$$

$$\frac{x + 7}{4} = f^{-1}$$

